—

S,

Product name: Faucet Ultra-25 (3/8)-low pressure RUBINETA
Product Code: U25108
E o Lork NAME Qry.
1 633340 |Spout Ultra-25 * ]
2 636323 |Hexagon set screw M5x8 1
3 | 635424 |Body Ultra-25 1
4 634040 |Cartridge 35 mm (low pressure) 1
5 | 636256 |[Nutfor cartridge 35 mm (Arus) 1
6 | 636255 |Cartridge cap Arus 1
7 | 631058 |Handle Ultra-25 1
8 636044 |Base for Ultra-25 1
9 637088 |Fixing set Ultra-25 1
10 | 618061 |Faucet hose G3/8"-M10x1 60cm| 1
1 618062 (F&;Jrg%fsk;ose G3/8"-M8x1 60 cm 2
APPY ring exsembstng - )
* Aerator insert M24x1 Neoperl NEOSTRAHL LP
www.rubineta.com V1712




	Sheet1
	Drawing View1


